SSC CHSL 2022-23 @

..

k
, s,

BLOOD RELATION

(0 T=9)
fUset 10 9@ & 31fd Hegaqut a9

BY MANDEEP MAHENDRAS

() am | 05:30 PM




SSC CHSL (10+2) 2022

{@amarsahani5058 21 hours ago 1 subscribers
C-15

5 CO  Reply &

v 'i'c"‘!a_’_:' « 1 reply

@bipulrana4833 21 hours ago
Today my home work ans 15 correct

5 CB Reply &

- ':%1' « 1 reply

@subhamoyghosh8498 3 hours ago
Hwans 13

5 CO  Reply &

@surbhisinha7315 17 hours ago 4 subscribers
Homework question answer - option cccce

5 CH  Reply @&

- ':%1' « 1 reply

(@sonalilakhmani2445 17 hours ago
C15

75 CB Reply &
- '3%:] 1 reply

@suruchijha393 21 hours ago
H/w ans option C

5 CF Reply @&
- '3%:] » 1 reply

(@rajibsahal428 21 hours ago 13 subscribers

HW)
15

5 &

- '%’_:] » 1 reply

Reply &=

@Ravi.1 21 hours ago 4 subscribers
13

f517 Co  Reply &

(@abhishekchauhan203 21 hours ago
Sir ceeeeeeeec hoga

v '%3' + Treply

@indukumari8754 15 hours ago
Ans 15 sir hoga
fh O Reply ®

v 'f?_if;' + 1 reply

o (@user-eq7to4Ih3h 21 hours ago
19

fh G} Reply ®

v '%3' + 1 reply

Reply &



SSC CHSL (10+2) 2022

® [f '+'1s written as '+', 'x' as '+', '+' as '-' and '-' as 'x', then solve the given

equation.
* Jig ‘=’ R AT “+’, x> H AT =", “+* o [T -’ AN *-* o TeTT “x* ToTET S
&Y 75 HIRLUT ohl B TS

*20x4+=5+5+-10=7
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® R 1s the son of Q. M 1s the sister of B who 1s the son of Q. How i1s M related to
R?

* R,QF T M, %Q T AT gl M T R § T Gaef 82

.Cousine/==IT *mé
B. Niece
& 5 \)

D. Ant/Eﬂ%ﬁ
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® A is the brother of B. C is the mother of B. M 1s the sister of C. How 1s B
related to M?

* A,BHRTYE R C, BHIATE M, C hHI 987 =1 B T M U H=IT G 27

@ O
C el
é A.Nephew/¥d STl

C. Aunt/=T=t
D.None of t /Qzlﬁ ﬁaﬁé
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® P is the father of J. S 1s the mother of N who is the brother of J. B 1s the son of
S. C 1s the daughter of B. How 1s J related to C?

* P,JHIfUdT R S, ﬁm JHIAE R B, SH TR C, BRI JHCH

FT e 27
A (@)
=)
[ A. Cousin/== ﬁlﬁ
| A : Brother/‘HTsc
B N C. Sister/dgd

D.CND Al SIl Hepdl
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* Pointing to Hari's picture, Vijay says, "His sister's father 1s the husband of my
wife's mother." Who 1s Vijay, Hari1?

\—/\ C. Uncle/3iohd o ‘
D.None of these/S:ﬁ ﬁﬁé z
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* Seeing the picture, Hema said, "This 1s the daughter of the sister of my father's
wife's brother". How 1s this girl related to Hema's mother's brother?

* T Rl SGHL BHT = hal, ""IE UL TUdT shl Ul oh TS ohl & shl a1 2| 39 ISl

ShT 4T Skl O ok |TS § T Nwar 8

C. Daugh?er/éﬁ
D. Mother/HTdT
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* B 1s the only son of the only daughter of C's grandfather. How 1s C's father
related to B?

* B, C o 31aT 3! gehcildl st skl geha il 9 &1 C o UdT B ¥ fohg TehR Esifera & 2

__i Gt

B. Uncle/HETHT
C. Father/fudr
D.None of these/3TH & hig A&l
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®* Ramesh 1s the father of Manideep. Ramesh has only two children. Manideep 1s
the brother of Niharika. Niharika 1s the daughter of Kavita. Ananya 1s the

granddaughter of Kavita. Sujit 1s the father of Ananya. How 1s Sujit related to
Manideep?

o 3T 91T o fUdr 2| W & shadd &l sea 2| Afvrdg f=rfert o s 31 =i

HITAT ol ST 2| ST il ol UIdt & Fsiia 11 o6 Tt 2
fohe Teh Gaifed 22 b Q
TR}

NN
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* A+B= A is the brother of B. A, B <hl s g

* A-B= A 1s the sister of B. A, B EARCRC i

< A\><}3= A 1s the father of B. A, B &1 fuar =

* A+-B= A is the mother of B. A, B T 91T ° 5

®* R 1s the daughter of P? g\%/

* R, P I Tt 27

7 ; 5@2%
AT C. Px -
P"\Q—R Q+R-S

D.None of these
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* A+B= A is the brother of B. A, B <hl s g
* A-B= A 1s the sister of B. A, B EARCRC i

< A)>(<B= A 1s the father of B. A, B &1 fuar =
* A<B= A is the mother of B. A, B 3l ATdT &
®* P 1s the grandfather of S o)

L D. None of these
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* A+B= A is the brother of B. A, B <hl s g
* A-B= A 1s the sister of B. A, B EARCRC i

* AxB= A 1s the father of B. A, B &1 fuar =
* A+-B= A is the mother of B. A, B T 91T °

® P is maternal uncle of S
VAT

tP ‘Q\ é d ;‘ ;+;;-R+S D
B.AQRIS

C.PxQ-R-S
g D. None of these
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® K 1s the wife of D. B 1s the wife of C. D 1s the son of B. A 1s the son of K. How
1s C related to A?

*K, D?mprtl_vﬁ%l B, C?mprq_vﬁ%l D, BW‘H%IA K ST SeT 8] S foh C hTA O

"Father/fuar
B. Uncle/ SiT
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® Pranay said to Akshay, "You are the brother of my grandson's brother's father."
How 1s Pranay related to Akshay?

* YURT < &R © e, "qH HL UId o AT o fUT o W1 81| "S0R ShT 37879 § T Hefel

B. Uncle/31<>hcfl wll
C. Grandfather/alar
D.None of these/3TH © whig gl
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® Introducing Sarita, Ramesh said, "The father of my son 1s the son of the only
brother of this lady." How 1s the woman related to Ramesh?

* GIAT =T ITC=r hUTd GC THRT A e, "HL T ohT TUdT 9 AT o $oheild HIg ohi T
21" GiEdAT &1 W 8 R 2 2 PP

1/6

A AT
B. HiHT

D. ==t
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® Abhay 1s the husband of Neena and Sunita i1s the mother of Abhay. Sohan 1s the
father of Neeraj and Abhay 1s the uncle of Neeraj then who 1s Sohan to Neena?

o 37, 1T T Uld & ST GHIT, 37v 3t AT &) e, =10t o fUdT 2 37 37w, it
T T & ol |ie, :ﬂmwﬁ?%V

C. Fatherf&i?lT
D.None of these/if:lﬁ 9 <>h\|';‘»c g8l

(\0
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® T 1s the sister of D. D 1s married to P. P 1s the son of M. T is the mother of J. Y
is the father of U. Y has only one son and only one daughter. U 1s the daughter
of T. Q 1s the son of D. How 1s P related to T ?

* T,DHTTET8I D, P foamfed 81 P, MFT T RI T,J A AT 1 Y, U T fUan 21 Y
T sherel Ueh T S bl Toh I3 &l U, Tht it &1 Q, D T T &1 P, T ¥ fohl T
Gt 87

4 a\ A. Brother/9TTg
| B. Brother-in-law/a&1s
C. Uncle/3eheT Sil

D.None of these/S?ﬁ ﬁ?ﬁﬁqﬁ
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® P's husband 1s B. E who 1s D's wife and P's mother-in-law. He has only
grandson Q. How 1s B related to D?

* PHTYA B BIE ST D Al Uct STR P HI HTE R SR TH AF IS8T Q. BRI D &
FIT HeET 87

A. Cousin/==I TS
B. Son-in-law/aMHIq

C. Son/sieT ‘
D. Nephew/sd ST
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* Pointing to a photograph of a lady, Mrinalini said, "The father of her son 1s the
only son-in-law of my mother. How 1s Mrinalini related to the lady in the
photograph?“

* Teh Higell shi TEHAR T A Heohd Hld §Y HUMTAHT = e, "SHeh oI o {Udm HLf 71 h
Tshelld STHTE 2| GUITTert qeafit aTel Tieet & fohd Jehr Heiferd 2 2

= \\ A. Sister/slad
‘/ 3 a\ B. Mother/HTdT
\\ / C. Cousin/T=IT mé

D.None of these/3TH 8§ iz LI
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* Pointing to a photograph of a boy Mr.Ram said, “He 1s the son of the only son
of my mother.” How 1s Mr Ram related to that boy?

A. Brother/‘m_sc
B. Uncle/3ehdt

C. Cousin/<= QTI‘QCr
D. Father/fuar




